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Please ‘make sure that the printed pages in this

question paper ‘are 8 in number and it contains 16

questions.

° 797-UF H &lle B # ST R4 T e T T dS F
BT -Gkl % JEIyS G [rd)
The Code No. and Set on the right side of the

question paper should be written by the candidate

on the front page of the answer-book.
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(2) 4307/(Set : A)

° FYI TIT FH FA [IGT JE@ w7 & Yoo, T H BB
T [T
Before beginning to answer a question, its Serial

Number must be written.

o FUT-gikTml # &5 4 @l G/ 91 T Big)

Don’t leave blank page/ pages in your answer-book.

o FUCYRTE * FHARF FE HH. e TE el o
STEFEATAR & @ S @] G T Fel
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question paper:

o UF F97 T G0T §7 @ [d I8 GRET BT o [ FT-GH
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Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.
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(3) 4307/(Set : A)

de: () FTFNEL G 5 T 7 FF G IT Fo 97 T
797 SR &

Attempt any four questions from Question

Numbers 1 to 5. Rest are compulsory.

(i) HEF FIT & 3% IGH @7 [T TT &

Marks are indicated against each question.

1. 3rd THA B H.guE HBI 4

Explain 3rd normal form:

2. IS FITHRT & BAAC HAA_HU 4

Explain the concept of video conferencing.

3. T SQL % ol qui Y : 4
AVG, COUNT, MAX, MIN.
Explain the following SQL functions :

AVG, COUNT, MAX, MIN.

4307/(Set : A) P.T.O.
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(4) 4307/(Set : A)

4, FG FM T ? I A AT R oEr ¥ ? SEEw
éﬁ%rm 4

What is a class ? How it is declared ? Give

example.
5. UF A9 & Igdil I &N & fow g At w3 e
Y HI A BT 4

gl OWd : First name, Last name, Runs made.

TR HRM ¢
(i) SrefEs aeg &,
(i) §91 T T SUSC HLT,

(iii)  STEHT D G AL

Define a class to represent batsmen in a team.
Include following member :

Data Members : First -mame, Last name, Runs
made.

Member functions :
(i) To assign initial values,
(i) To update runs made,

(iii) To display batsman information.

4307/(Set : A)

Previous Pathshala




(5) 4307/(Set : A)

6. POP & TwNigd i) 2
Give algorithm of POP.

7. S FFR W H-H SR BhU o &bl § 7 2
What operations can be performed on data
structure ?

8. Pice 3R N@E & aRwm i) 2
Define field and record.

9. SDLC ¥ §d &l & &1 8 ? 2
What is the need of survey.in SDLC ?

10. & R#E & & s ale o1 &7 2
What are various-ways of recording facts ?

11. HTML U5 % &FaX o) 2
Give structure of HTML page.

12. HTML#T & ? 1
What is HTML ?

13. AR #7187 1
What is a Marquee ?

4307/(Set : A) P.T.O.
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(6) 4307/(Set : A)

14. IgMc @l 9 AR 1
Define Intranet.
15. @Y WGIH AR H IR H71 5 ? 1
What is the use of scope resolution operator ?
[ a5 9 ]

[ Objective Type Questions ]

16. (i) HTTP&H 9 &Y ... 2| 1
Full form of HTTP is ....c.ocie. \

(i) FTP 0 T &Y .........c.i00 2| 1

Full form of ETP 1S ..counlovi. e p

(iii) TTefFES AR AT B 2.etnsosesnrs g & U¥ M5
T | 1

Protected members of a class are ................

but private members are not.
(iv) T H, FELT oo 3T I B B 1

In a queue, insertion takes place at

4307/(Set : A)

Previous Pathshala




(7) 4307/(Set : A)
(v) T RQA9M 2NF ¥ 8RN, SR I9@ T wid- @l

UEIE TEH Bl T .o, I 1
A relation is in 2NF if every non-key
attribute is ... dependent on
primary key.
(vi) T Reiee & T4 &l THGT ... HEAd
2 1
(a) <Ud (b) e
(c) f&lt (d) T

The number of attributes-in a relation is called

.................

(a)  Tuple (b) Cardinality
(c) _Degree (d) Row
il I . q Head & b TH =T § B Bl 1

(a) LAN (b) MAN
() WAN (d) His T
................ are network spread over a city.
(a) LAN (b) MAN
() WAN (d) None

4307/(Set : A) P.T.O.
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(8) 4307/(Set
(viii) @ HTML 3T ................ ¥ 9T 2 R
(@ ## (b) <>
() (d) @5 -E

- A)

All HTML tags are enclosed in ................ .

()
(©)

4307/(Set : A)

## (b) <>

(d) None
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» TU AT F G [5G AT H FRT gT 8 T
797 16 81
Please ‘make sure that the printed pages in this

question paper ‘are 8 in number and it contains 16

questions.

° 797-UF H &lle B # ST R4 T e T T dS F
BT -Gkl % JEIyS G [rd)
The Code No. and Set on the right side of the

question paper should be written by the candidate

on the front page of the answer-book.

4307/(Set : B) P.T.O.

Previous Pathshala




(2) 4307/(Set : B)

° FYI TIT FH FA [IGT JE@ w7 & Yoo, T H BB
T [T
Before beginning to answer a question, its Serial

Number must be written.

o FUT-gikTml # &5 4 @l G/ 91 T Big)

Don’t leave blank page/ pages in your answer-book.

o FUCYRTE * FHARF FE HH. e TE el o
STEFEATAR & @ S @] G T Fel
Except answer-book, no extra sheet will be given. Write

to the point and do not strike the written answer.

o TR GTTT T To HITUH GT e [or@)
Candidates must write their' Roll Number on the

question paper:

o UF F97 T G0T §7 @ [d I8 GRET BT o [ FT-GH
g7 q @&l & GHEr % I 54 a5 § #HE A a@r
@B Tel 13T S
Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.

4307/(Set : B)

Previous Pathshala




(3) 4307/(Set : B)

de: () FTFNEL G 5 T 7 FF G IT Fo 97 T
797 SR &

Attempt any four questions from Question

Numbers 1 to 5. Rest are compulsory.

(i) HEF FIT & 3% IGH @7 [T TT &

Marks are indicated against each question.

1. B el #r 8 7 ond A BF & goF B 4

What is functional dependency ? Explain 2nd

normal form.
2. FTP & goid &3 4
Explain FTP.

3. TR died SELECT SQL #His & R ® &
quie HI| 4

Explain with example various forms of SELECT

SQL command.

4307/(Set : B) P.T.O.
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(4) 4307/(Set :
4. HEF FME ? 3T YB B U B

What is a constructor ? Explain its types.

5. T% F distance 9K A =1 anfwa & ¢
1T AWK : WIS, 341
TR R
(i) a3,
(ii) 9 & NS,
(i) =g BT F=m
Create a class distance that includes :
Data Members : feet, inch.
Member Functions :
(i) To assign values,

(ii) To add values,

(iii) To print values.
6. WFAT 2?36 TBR AT & 7

What is an array ? What are its types ?

4307/(Set : B)

Previous Pathshala




7

10.

11

(5) 4307/(Set : B)
.G Fg | fecliee 8 fear o @ ? 2

How deletion takes place in a queue ?

. Seeg @ erfar @ € 7 2

What are the disadvantage of database ?

. ey o &1 #d @ B 7 2

What is the role of system analyst ?

SDLC %! 39ciHCIM &S & @i i 2

Explain implementation stage of SDLC.

. TS O & TS 1 © ¢ el @ @ 9o & 2

What are attributes of image tag ? Explain any

two.

12. <OL> ST #r B ? 1
What is <OL> tag ?

4307/(Set : B) P.T.O.
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(6) 4307/(Set : B)

13. HTML A9 # o &9 9090 e 8 7 1

How link is created in a HTML page ?

14. T H TSI H 2 7 1

What is the need of networking ?

15. IR F & ? 1
What is inheritance ?

[ TS 9 ]

[ Objective Type Questions ]

16. () W©F F THIT SWRIF B ooveeinnnnns FEd R ?

Insertion - Operation in a stack is called

................

(i) DDL & T & titeeerneenne. 2l 1
Full form of DDL iS ..cceuu........ .

(iii) BNF # W% M- THeqe 9Ba0 ‘Al W
................ Mt 2 1

In 3NF, every non-key attribute is ................
dependent on primary key.

4307/(Set : B)

Previous Pathshala




(7) 4307/(Set : B)
(iv) WAN &1 Q91 &7 .....o.oooeee 2l 1

Full form of WAN iS ..ccovvvvnnnnee .
(v) WWW & Q0 & ..o, 2l 1

Full form of WWW is ................ .

(vi) HTML & ................ T & 1
(@ 6 (b) 5
© 4 (@ 3
There are. ......co....... number of headings in
HTML.
(@) 6 (b)~ 5
() 4 (d 3

(vii) T Aedsh I SIS Io g9 & fu fesga
fopar T foed L FHEA &l 1
() e (b) WX
(c) fomt (d) Il

A system designed to prevent unauthorized
access to a network is called ................ .

(a) Gateway (b) Router
(c) Bridge (d) Firewall
4307/(Set : B) P.T.O.
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(8) 4307/(Set : B)

(VED)CH+ v, N S T 1
() TH Y9
(b) 39 =

(c) =M ETHEM

(d) g e

C++ was developed by ................
(a) Charles Babbage

(b) Dennis Ritchie

(c) Bjarne Stroustrup

(d) None

4307/(Set : B)
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797 16 81
Please ‘make sure that the printed pages in this

question paper ‘are 8 in number and it contains 16

questions.

° 797-UF H &lle B # ST R4 T e T T dE F
BT -Gkl % JEIyS G [rd)
The Code No. and Set on the right side of the

question paper should be written by the candidate

on the front page of the answer-book.
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(2) 4307/(Set : C)

° FYF TT FH TFA [IGT JE@ w7 & Yoo, T FH BHH
T [T
Before beginning to answer a question, its Serial

Number must be written.

o FUT-gikTml # &5 4 @l G/ 91 T Big)

Don’t leave blank page/ pages in your answer-book.

o FUCYRTE * FHARF FE HH. e TE el o
STEFEATAR & @ S @] G T Fel
Except answer-book, no extra sheet will be given. Write

to the point and do not strike the written answer.

o TR GTTT T To HITUH GT e [or@)
Candidates must write their' Roll Number on the

question paper:

o UF F97 T G0T §7 @ [d I8 GRET BT o [ FT-GH
g7 q @&l & GHEr % YU 34 FE § #HE A am@r
@B Tel 13T S
Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.

4307/(Set : C)

Previous Pathshala




(3) 4307/(Set : C)

de: () FTFNEL G 5 T G FF G IT Fo 97 T
797 SR &

Attempt any four questions from Question

Numbers 1 to 5. Rest are compulsory.

(i) HEF FIT & 3% IGH @7 [T TT &

Marks are indicated against each question.

1. SEEd H g S sa% T wm@rE ? 4

Define database. What-are its advantages ?

2. G & A B AU B 4

Explain the concept-of firewall.

3. g 5q AT fEdiie SQOL FHis & & o & ? R
AR SamEeer iy 4

What is difference between drop table and delete
SQL command ? Give syntax and example.

4. Ufd, UEdT R OReE &M YK # 99 HY 4

Explain public, private and protected -class
members.

4307/(Set : C) P.T.O.
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(4) 4307/(Set

5. U F-& a9 e e i & e

e AR : T, ATE, SR

TR BRI :

() oo A 3,

(ii) TRET @ TOET B

(i) G TR HT (T, AT, R

Create a class — room which includes :
Data Members : Length, Width; Height.

Member Functions :
(i) To assign initial values,

(ii) Tocalculate area,

: C)

(iii) To display information (length, width; area).

6. TFAX AR T I gRHAMT Lot
Define structure and array.

7. Biffeg g AW-Difafea swer ez #&n & ?

2

What are primitive and non-primitive data

types ?

4307/(Set : C)

Previous Pathshala




(5) 4307/(Set : C)

8. SIS %l SELTHA F1 & 2
What is the need of Normalization ?
9. =% dfF AR ghe R AT ? 2
What is Black box and Unit testing ?
10. SDLC %l 3aRIIN & #1 8 7 2
What is investigation stage of SDLC ?
11. = &7 &t o & 2
<Body>, <Ul>
Define following tag :
<Body>, <Ul>
12. 37 71 8 ? 1
What are tags ?
13. <P> 7 1 37 1
What is <P> tag ?
14. 3T & GRA AT 1
Define Internet.
4307/(Set : C) P.T.O.
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(6) 4307/(Set : C)
15. FO9 H AR AT 1

Define class.

[ FEgfrs 557 ]

[ Objective Type Questions ]

16. (i) U HEded B AT oo, % M % T oI

(iii) T B @ .o.oven F Fed & 1

A record is also known as ................ .

(iv) LAN & Q1 8T oo z| 1

Full form of LANiS ccevvvvven...... .

4307/(Set : C)
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(7) 4307/(Set : C)
(v) HTTP & T &7 ..o, 2 1

Full form of HTTPis ....cceeunnn.... )

(Vi) REF v, fram W e R 1
(a) LIFO (b) FIFO
() LILO (d) I3 TE
Stack is based on ........co..... principle.
(a) LIFO (b)~FIFO
(c). LILO (d) -+ None

(vii) TH WWW FAEE B ..o e &l 1

(a) | W (b). as Tt
(c) S FRTR () ®& T

A WWW client is called ................ .

(a) Server (b) Web page
(c) Web browser (d) None
4307/(Set : C) P.T.O.
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(8) 4307/(Set : C)

(VL) e T & T HTML 397 # f&fs siiey &
forT 2 B 1
(@) <li> (b) <I>
(c) <al> (d) <a>

................ tag is used for adding links to

HTML page.
(@) <li> (b) <I>
() <al> (d)~ <a>

4307/(Set : C)
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» TU AT F G [5G AT H FRT gT 8 T
797 16 81
Please ‘make sure that the printed pages in this

question paper ‘are 8 in number and it contains 16

questions.

° 797-UF H &lle B # ST R4 T e T T dE F
BT -Gkl % JEIyS G [rd)
The Code No. and Set on the right side of the

question paper should be written by the candidate

on the front page of the answer-book.
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Previous Pathshala




(2) 4307/(Set : D)

° FYF TT FH TFA [IGT JE@ w7 & Yoo, T FH BHH
T [T
Before beginning to answer a question, its Serial

Number must be written.

o FUT-gikTml # &5 4 @l G/ 91 T Big)

Don’t leave blank page/ pages in your answer-book.

o FUCYRTE * FHARF FE HH. e TE el o
STEFEATAR & @ S @] G T Fel
Except answer-book, no extra sheet will be given. Write

to the point and do not strike the written answer.

o TR GTTT T To HITUH GT e [or@)
Candidates must write their' Roll Number on the

question paper:

o UF F97 T G0T §7 @ [d I8 GRET BT o [ FT-GH
g7 q @&l & GHEr % YU 34 FE § #HE A am@r
@B Tel 13T S
Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.

4307/(Set : D)

Previous Pathshala




(3) 4307/(Set : D)

de: () FTFNEL G 5 T G FF G IT Fo 97 T
797 SR &

Attempt any four questions from Question

Numbers 1 to 5. Rest are compulsory.

(i) HEF FIT & 3% IGH @7 [T TT &

Marks are indicated against each question.

1. INF T 2 ? 389 390 AHAES]. Hd 5 a2 7 4

Whatis 1NF ? How a table is normalized in it ?

2. LAN 3K WAN & a0 &1 4

Explain LAN.and WAN.
3. Create Table SQL &HiE &I fRide oY SareX qifoTTI4

Give syntax and example of Create Table SQL

command.
4. ITTRRIT & 30D TR Tied ao B 4

Explain inheritance with its types.

4307/(Set : D) P.T.O.

Previous Pathshala




(4) 4307/(Set : D)

5. @6 W H §&0 91 T=) god & [ C++ ¥ Hmm
%lﬁ';l"{l 4

Write a program in C++ to find out the largest
number in an array.

6. PUSH & TFIRYH i) 2

Give algorithm of PUSH.

7. T H 39N 4 oA T 7 2

How insertion takes place in-a queue ?

8. SQL ¥ fhel v Sl 234 H 99 &1 2

Explain any four data types in SQL.

9. TR ST 1 IR ST 2

Define software engineering.

10. SDLC & RET RS 1 quie Hil 2

Explain testing stage of SDLC.

4307/(Set : D)

Previous Pathshala




11.

12,

13.

14,

15.

(5) 4307/(Set : D)

HTML ¥ faf= s @t foree &1 aoig &3

Explain various types of lists in HTML.

HTML & <Zaq & @971 8 7

What is title tag in HTML ?

Z-0d H IGANT FT 87

What is the use of E-mail ?

HTML & %ic 38 J2-oq 8 7

How comments are added in HTML ?

he B 47 § 7

What is friend function ?

4307/(Set : D)

Previous Pathshala
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(6) 4307/(Set : D)
[ a9 ]

[ Objective Type Questions ]

16. (i) TCP&H T9 &0 ................ 2l 1

Full form of TCPis ....cccuueu..... .

(i) URL S T &Y ...oooevnnnns 2l 1

Full form of URLis ..iioo.......... .

(1) ©veererreeriins GRS S e B e s 1 < |

GRET 1

| Ly T means- the rules applicable to a
network

(iv) DML &l GOH & oo et 2| 1

Full form of DML is ................ .

(v) T ST H Ud B AaK TEDB coveennnnnnnn BRI
gl 1

The number of tuples in a database is

called ................ .

4307/(Set : D)

Previous Pathshala




(7) 4307/(Set : D)

(vi) R fetme 79 &ae &, o fowre iRl @
................ I 1

(a) WicRres (b) disTeh
(c) Wmgae (d) ®iE T

If the derived class is struct, then default

visibility mode is ................ .

(a) Protected (b) Public
(¢) " Private (d) None

(vi)) @ 1-D TTH, X BT HBA .ooovi s 2T Bl
(a) UB-LB#1 (b) LB
() UB+ 2 (d) I3 &l

In 1 - D array size of array is ................ .

(a) UB-LB +1 (b) LB
(¢ UB+2 (d) None
4307/(Set : D) P.T.O.
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(8) 4307/(Set : D)

(VL) e HTML o7 % SN SRIE & 3elo
F & [T B Bl 1
(@) <it> (b) <italic>
(c) <i> (d) P T
................ HTML tag is used to make text
italic.
(@) <it> (b) <italic>
(c) <i> (d) None

4307/(Set : D)
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